Homework due Thursday, February 28, 2019
French 2

Write a sentence with each of the following. Capitalization or lack thereof of the word indicated is irrelevant as to whether or not the word is capitalized in the sentence you write.
lequel _______________________________________________________________________
lesquelles ____________________________________________________________________
auquel_______________________________________________________________________
de laquelle____________________________________________________________________
à laquelle_____________________________________________________________________
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